INDIAN SCHOOL AL WADI AL KABIR
DEPARTMENT OF MATHEMATICS (2022-2023)
MIDTERM EXAM REVISION WORKSHEET

RESOURCE PERSON: VEDA VIJAY
NAME: CLASS: 11l SEC: DATE:

Read the instructions and do as directed.
I. Read the questions carefully and circle the correct option.

1) 100 more than 2015 is .
a) 2105 b) 2100 c) 2115 d) 3015

2) 8926 + = 8926.

a) 8926 b) 1 c) 10 d)o
3) The Successor of 4259 is

a) 4260 b) 4300 c) 4200 d) 4258
4) 6512 x = 6512.

a)0 b) 1 c) 6512 d) 6521
5) 4589 + 105 = + 4589.

a) 104 b) 105 C) 4694 d) 4589

6) When you multiply any number by 0, the Product is always
a) the same number b) 0 )1 d) the next number

7) Which of the given shapes is symmetrical?
) O b) % S g

8) Which of the following patterns is not tilling?

o [ |
a) | | b) c) d) @58
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I1. Do as directed.

1. Match the following

A. | One thousand two hundred forty a. | 1224
B. | 1000 + 200 + 4 b. | 1240
C. | One thousand two hundred fourteen c. | 1214
D. | The Predecessor of 1225 d. | 1204
A ; B ; C ; D

2. Fill in the blanks with the correct answer.

a) When adding 1010 and 7505, we get

b) The even number that comes after 3462 is

c) Observe the pattern and complete the series.
63 66 72
d) 80 X 100 =

3. Read the story sums given below and identify the operation that you should use
to find the correct answer. Put the correct sign (+, — or x) in the box.

a) Riya ordered 6 pizzas. If each pizza was cut into 8 pieces, how many pieces of pizza

did she get?

b) There are 300 seats in a cinema hall. If 250 seats were occupied during a show, how many
seats were empty?

¢) John purchased 1253 cups for his ice cream parlour on Sunday and 435 cups on Monday.
How many cups did he purchase on these two days?

4. Observe the rules and complete the patterns given below.

2> N/ O/

b) 2P  3Q 55
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c) 200

180

160

140

5. Read the following statements and mark them as True or False.

a) A Sphere has a curved surface and a corner.

b) A cylinder has no edges.

6. Complete the following.

a) If one box has 9 chocolates, then 8 such boxes will have

b) 6 children can sit on one bench.

IIT) Solve the following.

1. Multiply and find the product.

chocolates.

children can sit on 7 such benches.

Th H | T (o) Th H |T (0]
3 1 7 2 2 9
X 4 7
2. Arrange and add.
a) 1323 + 2134
Th
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3. Subtract and check your answer.

CHECK
Th H T |O Th | H|T |O

a)

4. Read the given word problem carefully, solve and fill in the blanks in the
statements.

a) There are 915 students in the Primary Section in a school. If 498 of them play football,
how many students do not play football?

Th HT O

Number of students in the Primary Section =

Number of students that play football =

Number of students who do not play football =

Ans:

5. Read the word problem given below, write the statements and solve.

b) A shopkeeper sold 546 white candles and 428 red candles. How many candles did he sell

in all?
Th HT O

Ans:

ISWK-Primary/Department of Mathematics (2022-2023)

Page4



